®3x—5 @ x-1 ® 2x+1

@ x+4 ® 3x+5

3x2 —8x+5=(3x—-5)(x—1)
6x2 —Tx—5=(3x-5)(2x + 1)

BEQ A4 3x—5




2.

x=3+2V2, y=3-2vV2 & uf, x2 —y? 2] & F5pH?

O 24 @ -24 ® 0
@ -24+2 @24\/5

B

x2—y2
=(x+y)(x-y)
=(34+2V2+3-2V2)(3+2V2-3+2v2)
=6x4V2 =242




3. F oA 2 -5x+29%x%+x-69 FFAAF=?

@ (x-2) @ (x+3) @ (2x-1)
@ (x+3)(x-2) ® (2x-1)(x-2)

2x2 —5x+2=(2x—1)(x-2)
¥ 4+x-6=(x+3)(x-2)
oA 7 oA o] 359 g (x—2) °lth
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@ 3cm @ 5cm ® 15cm

V1
@ 15cm ® T5cm

(BRApAR el Wol) = (
3x5=x?

~ x= V15cm
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T4 V02, V342, 3
—— /169 <13>2 13
L9=V10= \10) =10




6. A=V2-5v3,B=-3Vv2- V3 ], V34 - V2B 2] g2?

@2\/6—9 @ 2V6+9 ® -21
@ —2+6+ 21 ® 2v6-21

B

V3A — V2B
= V3(V2-5V3) - V2(-3V2 - V3)
=V6-15+6+ V6

=2V6-9




F) = dx 42, g(x) = 652 —sx—d o atel & _ oy gz
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Urepold w, 24 ©] gHE Fo}?

©-3 @- @3 @ 6 ® 12

g(x) = (ax + b)f(x) °| B2
6x> —5x—4 = (3x—4)(2x+ 1)
- (§x—2) (4x+2)
2
oo
a= ;, b=-2
2ab = —6




